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Division by 3 digit numbers

Divide

18,090   ÷  250 = 15,000   ÷  910 =

17,765   ÷  330 = 23,465   ÷  270 =

23,678   ÷  430 = 34,009   ÷  940 = 19,999   ÷  350 =

76,980   ÷  990 = 12,511   ÷  150 = 15,865   ÷  220 =

21,987   ÷  430 = 21,980   ÷  380 = 55,555   ÷  660 =

11,765   ÷  120 = 48,765   ÷  580 = 14,008   ÷  730 =

87,001   ÷  950 = 44,871   ÷  590 = 23,871   ÷  570 =
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Answers

Divide

18,090   ÷  250 = 72 R   90 15,000   ÷  910 = 16 R 440

17,765   ÷  330 = 53 R 275 23,465   ÷  270 = 86 R 245

23,678   ÷  430 = 55 R 28 34,009   ÷  940 = 36 R 169 19,999   ÷  350 = 57 R   49

76,980   ÷  990 = 77 R 750 12,511   ÷  150 = 83 R   61 15,865   ÷  220 = 72 R   25

21,987   ÷  430 = 51 R   57 21,980   ÷  380 = 57 R 320 55,555   ÷  660 = 84 R 115

11,765   ÷  120 = 98 R     5 48,765   ÷  580 = 84 R   45 14,008   ÷  730 = 19 R 138

87,001   ÷  950 = 91 R 551 44,871   ÷  590 = 76 R   31 23,871   ÷  570 = 41 R 501


